Simplifying Trigonometric Expressions:

A trigonometric identity is an equation that is true for all
values of x that are in the domain of the functions.

Reciprocal identities
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Simplifying a trig expression:

One method is to replace all trig functions with
sines and cosines.

Simplify each trig expression:
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Tangent and cotangent identities
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sin%0 + cos?0 = 1

Hyp Pythagorean Theorem:
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[Other Pythagorean |dentities

Variations of  |sin20 + cos20 = 1

Divide both sides
by cos?0

cos2 @ + sin?6 = 1
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1 - cos®0 = sin®0
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1 - sin%0 = cos?0
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Simplify each trig expression:

. Divide both sides
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Simplify each Trigonometric Expression to a single
trig function or a constant.
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